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: @ Instructions regarding filling of OMR Sheet are | = 3N.0W.31R. efic avaferd fder 3it.va.3me. ofic we ferd 21
pf PRI A.N«MQE mentioned on the OMR Sheet only. i

ymplad &  The duration of the examis 172 Hours. @ Udlen 3fafd 11, que &l
&

The Question Booklet consists of 100 Questions, | = gauﬂa]gﬁﬂaﬂﬁ 100 U 2 de11 U U2 4 3ihl &I
each with 4 Marks. The maximum Marks are 2 | iftra 3id 400 E |

400.

@ Subject-wise division of 100 Questions are as| <=  @el 100 uedl @i fawRiar fdaeun s UaR 2 :Blﬁllﬂ-25,
follows: Maths-25, Science-25, S.St.-20, fursir-25, Ao 37eR-20, 3ia30-20 3 WD
English-20, MAT-10. AowdI Teur-10 ug |

&  Candidates will be awarded 4 Marks for the | = aﬁm@]ﬁwuﬁmq4mmﬁ)—am|
indicated correct response to each question.

@  One mark will be deducted for the incorrect | =  aleid 3a? eI U2 Ufel U 1 3ic et IRIoM |
response to each question.

&  Space for rough work is also provided in the | Uﬁﬂlqﬁﬂﬂﬂﬁwmi\ﬁﬁwlﬂmﬁmaﬁﬂﬁ

Question Booklet. 2
01. Simplify :- :01. /1 @1 w19 qar BRI ?
412 - 75 - 7/48 a2 J75-748
(1) 253 (2) -25/3 (1) 253 (2) -25/3
3) 53 4) -53 3) 53 4) -53

02. If p(x) =X’ —4x+3, evaluate

P@-p(-)+s(5]

02. X p(x)=x’—4x+3. 8 @

2

7
7 @ —7

7 !
. M @ -3

4

31

31
-7 @

|

|

|

|

|

|

1

| p(z)—p(—1)+p[—j 1 T B
|

|

|

|

| 31 31
| 3) T 4 7
|

]

Space for Rough Work
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03.

04.

05.

06.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

It is known that if x+ y =10 then
x+y+z =10+ z Euclid's axioms that illustrates
this statement is :

(1) first Axiom (2) second Axiom

(3) third Axiom (4) fourth Axiom

If (a,1) lies on the graph of 3x -2y +4 =0 then a=
2 2

=3 @ 3
3 3

Q)5 @ =7

Lines are parallel if they do not intersect is stated in the

form of

(1) An axiom

(2) A defination

(3) A postulate

(4) A proof

Which of the following is not an undefined term?
(1) line
(3) plane

(2) angle
(4) point

l03. 75 sma @ fr ol x+y=10 grar

04.

05.

06.

X+y+z=10+z BRM, ®AF Bl J[FTS BT HITH]

RIS SeIi & |
(1) mer IrfLEa () fgda aifingEia
(3) TERT SAFNTET (4) T IFRE
A& (@,1), 3x—2y+4=0 B % WRIT & dla =
2 2
(1) 3 (2) 3
3 3
3) 5 “4) )

Ife XGT¢ gfaeee 9 B df d FHEIOR 8l §, 39 {4
w9 § gaT AT 8

(1) T ¥ifrg

(2) T gl

(3) T srfaEmRon

(4) U HHTIT

frr=faRad # & oF @ saRvfa wse 781 272

(1) ¥t (2) ®Ir

(3) e 4 fig

07. Find the value of m, if x = 3, y = 6is the solutions for | 07. m &I A1 =d BT, TS x =3, y = 6 FHIHUI
equation x+2y=m? X+2y=m &I & &°
()10 )15 (1) 10 (2) 15
3)12 % 14 3) 12 4 14
08. Jm'n* xYm*n? Im*n* = (mn)k then value of kis: | 08. ~m'*n* xm*n® Im*n* = (mn)k 81 ol k &7 A4
T
(o 2)3 (1) 6 2) 3
()2 41 () 2 (4) 1
09. The graph of linear equations x+2y =2, cuts the y- | 09. YRIPH FHIHIT x+2y =2 & UTH, y—30eT HI {hA
axis at g W Prear 8
(1) (2,0) @) (3,0) (1) (2,0) ) (3,0)
3) (0,1) @ (1,1) 3) (0,1) @ (11)
Space for Rough Work
PCP sikar Class : 1X/Q-5 I IT-JEE | NEET | OLYMPIADS 2
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x 3 2x+y I e x 3 2x+y 5
10. If 2y 2 then the value of x—2y is equal to | 10. 2y 2 5E x—2y DT {1 dT6]
1 3 2)7 I 1 3 2)7
R (2) | R (2)
(3)8.5 4) 25 I (3)8.5 4) 25
11. The arca of A4(B having vertices A(0,6) and B(3, 0) : 11. I By & 2 A(0,6) T B(5, 0) & A1 AAOB
is | FI EThA T
(1) 12 sq.unit (2) 36 sq.unit | (1) 12 o gPb1E (2) 36 I SHS
(3) 15 sq.unit (4) 24 sq.unit | (3) 15 T IPS (4) 24 T P
12. Mirror image of the point (7, -8) in y-axis is | 12. y—3ie ¥ fdg (7, —8) &1 <Uvr ufdfew 8
(1) (-7, -8) (2)(7.8) I (1) (-7, -8) (2)(7.8)
(3)(-7.8) ) (-7.9) | (3)(-7.8) ) (-7.9)
13. Which of the following algebraic expressions isnota | 13. F=IfeTRaa # & $19 A1 dISiY ASTd dgUa 8l 67
polynomial? |
I
2 2
(1) 3 2) f5x* _3x° -9 | (1) 3 @) fsx* —3x3 -9
I
17 17
3) ?x2+x—3 4) 0 I 3) ?x2+x—3 4) 0
14. If 2 _2*1 —1¢, then the value of 2 is : 14, & px _p*1 16, Ay? HIAA B
(1) 4 ()9 | (1) 4 ) 9
(3) 16 (4) 25 | (3) 16 4) 25
15. If 8x* _8x? +7 is divided by 2x+1, the remainderis | 15. §x* —8x>+7 @ 2x+1 ¥ 9N & WR AYHA UT
| g 87
S NE L e
M) 3 @ | 1) 3 @ 5
NE o7 L N
@) 5 ) 7 | G 5 @) 5
16. The value of /10 times /15 is equal to | 16. /10 e /15 T A SRIER BIAT ©
() 56 BN EERUENS @ 25
(3) 1045 @ 5 I 3) 1045 @ 5
Space for Rough Work
PCP sikar Class : 1X/Q-5 I IT-JEE | NEET | OLYMPIADS 3
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17. (123 can be expressed in rational form as I 17. 0123 &I URN"T ®Y | @<h (HAT S Fehall 67
, 900 , |, 0 ) 11
W1 @ 500 I O T @ 500
123 o120 | 128 o 121
()10 ()900 | ()10 ()900
|
18, Find the value of || if 15, R g V21 i
. t = . = bl HHT
ind the value of 4[~7— i J2=1.4142 : J2=1.4142 NCER) I
(1)5.8282 2)0.1718 | (1)5.8282 2)0.1718
(3)0.4142 (4)2.4142 | (3)0.4142 (4)2.4142
X = Y= 2 I Ife x——2 3R y——2
19. If \/* \/’ and \/’ NG then x+y = | 19. NG NG qd x+y=
()3 @ 443 EENUE @ 443
G3) 23 46 I G3) 23 46
20. The rationalizing factor of 3/ /2pc* is: | 20. 3/ 2p3c* BT URHIBR BRE o—
|
(D Ja*b’c @) Ya’b’c | D Jab’e 2 Ya’b’c
|
) Ja’b’c 4 Ja'b’c | 3) Ja’b’c 4) Ja'b’c
21. The value of k for which x + & is a factor of : 21. IR x4k, T8US 3 4 —2x+k+4 P IAAES
Xk’ —2x+k+41s | gl f ol A S —
1 _i 2)-5 | —4
ey 3 2 - I (1) 3 (2)-5
3)2 no | ¢
3 4 7 | (3) 2 “4) 7
22. Tf A(-4,3) and B(-3,5) are two given points then I 22. e A(-4,3) &R B(-3,5) <1 fav o fig &
(abscissa of A) - (abscissa of B) = ? | (A BT 9ol) - (B BT o) = ?
(1)-2 (2)-1 | (1) —2 (2) —1
31 2 I (3) 1 ) 2
|
]
Space for Rough Work
PCP sikar Class : 1X/Q-5 I IT-JEE | NEET | OLYMPIADS 4
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23. Graphof x=2 and y =—1 intersect at l 23, UTH y=2 3R y=-1 f&u < w® ufd=ws &
Y | Y S
M (-1,2) @ (2,-1) |
3) (L2) @ (2,1) | () (-12) @ (2,-1)
24. Among the numbers 2% 3% 4"°and 5'% the | 3) (1,2) 4) (2,1)
greatest number is | 24. 220 3200 AI03R 5100 HeTSl # FIH TSI WA ©
(1) 2% 2) 32 : (1) 2% 2) 3%
(3) 4 @ 5 | ) g ) 5
25. If X’ +3° =1067,x+y =11 find x* + )" | 25. A& x* 4% =1067,x+y=11 B x*+*
(1) 11450 ) 12169 I (1) 11450 ) 12169
(3) 11025 (4) 10897 I (3) 11025 (4) 10897

Space for Rough Work
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27.

28.

29.

30.

. Which of the following phenomena would increase on
rising temperature?
(1) Diffusion, evaporation, compression of gases
(2) Evaporation, compression of gases, solubility
(3) Evaporation, diffusion, expansion of gases
(4) Evaporation, solubility, diffusion, compression of
gases
What is the term for the force that opposes motion
between two surfaces?
(1) Friction
(2) Gravity
(3) Normal force
(4) Tension
A force of 10 N acts on an object for 2 seconds. If the
object's mass is 5 kg, what is its acceleration?
(1) 2 m/s? (2) 4 m/s?
(3) 6 m/s? (4) 8 m/s?
What is Newton's First Law of Motion?
(1) An object at rest remains at rest, and an object in
motion remains in motion
(2) Force equals mass times acceleration
(3) Action and reaction forces are equal and opposite
(4) Energy cannot be created or destroyed

Which of the following conditions is most favourable for
converting gas into liquid?

(1) High pressure, low temperature

(2) Low pressure, low temperature

(3) Low pressure, high temperature

(4) High pressure, high temperature

26.

27.

28.

29.

30.

I de R fAferRad & & @19 ) gedr sei?

(1) 4 T TR, IR, HureH

(2) ATSIHRYT, AT BT HUTSA, geTeiierdn

(3) 4 @1 AR, TR, fRdR

(4) AT BT ATTBRYT, AR, TR, HUTS

ST sl @ 4 Wi BT Rl BT dlel 9l Bl a1 o
g°

(1) =or

(2) eIyl

(3) AT 9

(4) T

10 N &7 9 fhefl o UR 2 Abhs TP B el & | AT
] DT G 5 T 8, Tl SHBT TRl T 27°

(1) 2 9l /AHoe’ (2) 4 A1 /AHOS’
(3) 6 HI /AHTS’ 4) 8 HI /AHTS’
=Jc B AT BT g R @ 2?

(1) S 9% RerR & g8 ReR 81 ¥l & 3R Sl a%g i
d#rag I A & wdh &

(2) 96 GHHM UM TRYT & 06 BIAT &

(3) fobar va ufafsar g w9 vd o g1a @

(4) ot BT 7 T IR S FHT & 3MR A BT ¢
ST HHT B

i @l avdl | yRafda &< & forg FefaRad 3 | o

1 Rerfer Ha 3rde 87

(1) S=a <19, 71 aroH™

(2) TF <M, HH ATIHA

(3) B <4, I YA

(4) Sd T, Sed AT

Space for Rough Work

Class : 1X/Q-5
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31.

32.

33.

34.

35.

36.
37.

38.

PRINCE OLYMPIAD EXAMINATION

Which of the following is an example of a physical
change?

(1) Burning of wood

(2) Melting of ice

(3) Rusting of iron

(4) Fermentation of sugar

Which of the following is a characteristic of a solid?
(1) Fixed shape and volume

(2) Fixed shape but variable volume

(3) Variable shape and volume

(4) Fixed volume but variable shape

What is the process called when a solid changes directly
to a gas?

(1) Melting

(3) Sublimation
What is the term for a mixture of two or more substances?
(1) Solution (2) Suspension

(3) Colloid (4) Mixture

Which of the following is an example of a heterogeneous

(2) Boiling
(4) Condensation

mixture?

(1) Air

(3) Dusty air
Which of the following is an example of a pure substance?
(1) Water (2) Air

(2) Water
(4) Sugar solution

(3) Soil (4) Sugar solution

What is the basic structural unit of living organisms?
(1) Cell (2) Tissue

(3) Organ (4) System

Which of the following is a characteristic of cells?
(1) Fixed shape and size

(2) Variable shape and size

(3) Ability to reproduce

(4) Ability to respond to stimuli

I =2pcr i
| 31. FreforRad # @ @1 1 Wi TRadE BT SER 87
(1) ABST BT STAAT
(2) 9% &1 e
(3) I # ST 9T
(4) A=Y B fbuas
. Fr=ferRaa & 9 ®19 |1 31 &1 oeTor 27

(1) f¥Ea meR 3R smraH

(2) Ff¥ad smaR dfds aRad-iie smaa-
(3) uRacT3iIer MR 3R M

(4) ff¥ea smaaq ofd aRad=eiia smarR

. Ol9 BIS o I I # uRafda 81 9irar & dr S uihar

DI FIT BEd 87

(1) fUeret=r (2) SEerT

(3) Sefaura (4) Hg=A

. QAT 9 e uert @ fasror @ @ dwEd 27
(1) faera= (2) Feta=

(3) PIATES (4) fasror

. Frfofaa & & @9 @1 fawarh Hsmor @1 serERor 87
(1) arg (2) S

(3) ¢l A BT (4) A &1 T

. T=feiRad W 9§ @I g uaTed &1 Sarev 8?
(1) Stet (2) a1y

(3) (4) I @1 9

. ST Sial &1 oI He-cHd Sobls FT 87

(1) PIf¥remT () b

(3) 3T (4) T3

. F=faRad 5 9 da—a1 1T @ faevar 87

(1) Ff¥=a smeR &k A9
(2) uRacTefier 3P wa /Mg
(3) USTHA BRI B &THAT

(4) SIormRl R ufdfhar w3 @ emar

]
Space for Roug

h Work

PCP, Sikar
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39.

40.

41.

42.

43.

44.

45.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

A car travels from City A to City B at an average speed | 39. U BRI A ¥ B B P 60 BT /€T & 3id

of 60 km/h and returns at an average speed of 40 km/h.
What is the average speed for the entire trip?

(1) 45km/h (2) 48 km/h

(3) 50 km/h (4) 55km/h

What is the term for the control center of a cell?

(1) Nucleus (2) Mitochondria

(3) Ribosome (4) Lysosome

What is the term for a group of similar cells that perform
a specific function?
(1) Tissue

(3) System

(2) Organ
4) Cell
One of the following is not true about Cardiac muscles

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
(1) They can be controlled |
(2) Cells are uninucleated |
(3) Found outside the heart such as the digestive tract |
(4) All of the above I
Which of the following is connective tissue? |
(1) Ligament (2) Tendon |
(3) Blood (4) All of the above |
Which of the following is an example of uniform motion? :
(1) A car accelerating on a straight road |
(2) A ball thrown upwards |
(3) A bicycle moving at a constant speed |
(4) A train stopping at a station I
What is the formula for speed? |
(1) Distance/Time |
(2) Time/Distance |
(3) Distance x Time I
(4) Time x Distance |

4

41.

4

4

44.

45.

2.

3.

4
5

0.
1

TR AT BT © 3R 40 B /€eT @ *fvaa i |
oy Tl B | & A @ fore s Wi @ 8?

(1) 45 fbHT /=eT (2) 48 4T /deT
(3) 50 fopHT /&eT (4) 55 AT /=eT
fosly eI & =0T ®g & R Hed 27
(1) =gfaeraa (2) HgcIDI=gar
(3) NIsSTEH (4) TSHIEH

U AR BT B ATell T4 BIRIPIRT & TG Bl
FIT HEI ST 87

(1) SaF () 3T

(3) e (4) Tt

&g @ AUl @ R # frEfoiRad § 9 ve g T8
2

(1) 32 afaa fear < 9o 2

(2) BIR®N THHEHT BT &

(3) €3 D 918X UTAT T © oI UTas a

(4) SIRRH T
frforRaa # & o9 Faol Sd® 87
(1) fermte (2) <=

(3) (4) SIRRH T

frferRaa # & &9 vwaA™ T &1 SerER 8?
(1) T PR Ol s W ol W I W& 8

(2) R B AR B TE e

(3) RerR fq & == arell Argfdd

(4) TP TWIH WR Bp+ aTell el TS]

T &1 I a2 8?7

() g /&

) W /@

Q) x W

(4) T« A

]
Space for Rough Work

PCP, Sikar

Class : IX/Q-5 I

IIT-JEE | NEET | OLYMPIADS 8



www.princeeduhub.com I

46.

47.

48.

49.

50.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Which of the following is an example of motion?

(1) A book on a table

(2) A moving car

(3) A person sitting

(4) A tree standing

Which one of the following does not differ in E.coli and
Chlamydomonas?

(1) Cell membrane

(2) Cell wall

(3) Chromosomal organization

(4) Ribosomes

What is the term for an object's acceleration due to

gravity?
(Mg ) G
(3) ag 4 a

What is the term for a push or pull that causes an object
to change its motion?
(1) Force

(3) Momentum

(2) Energy

(4) Gravity

Which of the following are not membrane-bound?
(1) Ribosomes
(3) Vacuoles

(2) Mesosomes
(4) Lysosomes

I46. fr=ferRaa 9§ & w19 wfad &1 SargRor 87

7.

50.

4
48.
49

(1) ¥ R Tah fopara

(2) Tl B8 DR

(3) Td Ah 907 B3N

(4) To Ug Wl B

fr=ferRad § & @19 A1 S.dlell 3R Foged=g #
iy =181 87

(1) PIfraeT fereet!
(2) ®if¥emr kT
(3) LA |G
(4) NTSETEH
el TR & ToATHYY & HRUT TR BT RIT Had &7
(g 2 G
(3) ag “4) a
. 9 gdpT A1 Rard &I 77 HEd § fordd BRUT Bl
e MU AT deel aell B?
(1) 9 (2) St
(3) AT (4) BBy
frefoRaa # & eF-—w1 Srecll—a9g =8t 87
(1) JTZEEH (2) FAEH
(3) Taefat (4) drsardH

Space for Rough Work

PCP, Sikar

Class : IX/Q-5 I
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Zfsucm sclENcEJE

52.

53.

54.

55.

56.

India is the

area.
(1) second (2) fourth
(3) seventh (4) tenth

A landmass bounded by the sea on three sides is referred
to as

(1) Coast

(2) Island

(3) Peninsula

(4) None of the above

A wet, swampy and marshy region in the Northern Plains
of India is known as .

(1) Kankar (2) Bhabar

(3) Khaddar (4) Terai

The new alluvial deposits found in the Gangetic plain
are known as )

(1) Bhabar (2) Bhangar

(3) Khadar (4) Terai

Which of the following is NOT a feature of a democratic

government?

(1) Rule of law

(2) Universal adult franchise

(3) Centralized decision-making

(4) Respect for minority rights

In a democracy, each adult citizen must have
(1) Must have one vote

(2) Each vote must have one value

(3)1land 2

(4) None

55.

__largest country in the world by land | 51. &=rther & R W wRe T @1 ... I T 9 ¥ |

(2) der
(4) <@t

(1) /1
(3) e

2. A9 3R ¥ g O foRT IR FEAET

(1) Te

() €19

(3) "I

(4) SRIG # & BIg A8

3. MRd & SN Ag ° W1, Tolcell 3R $e5 & ........

(3) @R

4, T & e ¥ YU SF aTed A0 STdlg HeTdi &l ........

@ B9 H SIET O 2 |

(1) &R ) 9

(3) TR (4) TIg

f=ferRad o & I Aledifid IRGR & faLedr T8l
g7

(1) BT BT AT

(2) ATdHIAS TIRD AATRIRR

(3) dargd Frofg—ufsan

(4) 3R IMRABRI BT T

6. Alpdd ¥ AP 9P ANTRS & 9

(1) Ud dic BT @113

(2) Y& dIc FT Ud ed BT A1MBY
(3) 1 3R 2

@) P15 &

Space for Rough Work

PCP, Sikar

Class : IX/Q-5 I

IIT-JEE | NEET | OLYMPIADS 10



57.

58.

59.

60.

61.

62.

63.

Versailles on 20th June?
(1) Mirabeau

(2) Abbe Sieyes

(3) Louis XVI

(4) both (1) & (2)

foreq fopar?

(1) faRieg

(2) 31 AR

(3) g Hiersd

) (1) 3R (2) <

www.princeeduhub.com | priNcE oLympiaD ExaMinaTion | o PcP i
What is the role of the judiciary in a democracy? I 57. didda H AIATrdBT B FT DT 87
(1) Make laws | (1) P &1
(2) Execute laws | 2) Eb‘lﬂf[.?l'l"]; PR |
(3) Interpret and apply laws | (3) BT B AT BIAT AR IB AN HRAT
(4) Control the government | (4) TRBHR TR [TIHOT TG
The aim of production is to produce - : 58. IUTEH BT I2IT SHTGA BT & —
(1) Goods (2) Services | (1) ArcA (2) Sary
(3) Employment (4) Both 1 and 2 | (3) AR (4) 1 3R 2 THI
Guintha' is - | 59. o188 —
(1) Alocal cuisine of Palampur | (1) 9TTHYR BT U AT T
(2) Alocal land measuring unit I (2) UF WY [ AT &1 SHIS
(3) A seasonal crop | (3) P AR B
(4) A cultural festival | (4) T AHIAP I
On .......... the city of Paris was in a state of alarm. | 60. ... UR¥ erER Wk &I Rerfar # o | 1o 7 St &t
The king had commanded troops to move into the city. I IER H S T 3eeT e o |
(1) 15 July 1779 | (1) 15 TS 1779
) 14 July 1779 | ) 14 TS 1779
(3) 15 July 1789 | (3) 15 TS 1789
(4) 14 July 1789 I (4) 14 TS 1789
The National Assembly formed a constitution in 1791, to : 61. S T A 1791 § udh <o g, e
limit the power of the ? | & wfdd & AT fdaar S a6
(1) Wealthy men (2) Businessmen | (1) g7 h (2) TR
(3) Monarch (4) Press | (3) AR (4) ¥4
Who were not considered passive citizens? | 62. frd) Fifpa TR &1 WM STTaT on?
(1) Women (2) Children I (1) afgard () I
(3) Non property men  (4) Wealthy people | (3) HuRTEE kb (4) Ea AT
Who led the representatives of the Third Estate in | 63. 20 S &I g4I # dRR YT & U&=l o1 g
I
I
I
I
I
I
l
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64.

65.

66.

67.

68.

69.

70.

PRINCE OLYMPIAD EXAMINATION

The period from was referred to as the 'Reign
of Terror'.

(1) 1793-1794 (2) 1794-1795

(3) 1795-1796 (4) 1792-1793

Who was the leader of the Bolshevik Party?

(1) Karl marx (2) Stalin

(3) Lenin (4) None of the above

What kind of developments took place as a result of
new political trends in Europe?

(1) Industrial Revolution occurred

(2) New cities came up

(3) Railways expanded

(4) All the above

As a result of the February Revolution, the Tsar

(1) Was thrown out of office

(2) Exiled

(3) Voluntarily abdicated

(4) Was immediately executed

In the beginning of the 20th century, the majority of the
Russian people worked in ....7

(1) Industrial sector (2) Agriculture sector
(3) Mining sector (4) Transport sector
What does "USSR" stand for?

(1) Union of Soviet Socialist Republics

(2) United Soviet Socialist Republics

(3) Union of Soviet Socialist Regions

(4) United States of Soviet Republics

Who were the Mensheviks?

(1) Supporters of Lenin

(2) Opponents of Bolsheviks

(3) Military leaders

(4) Foreign invaders

I 64.

65.

5

66.

67.
8

68.

69.

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
| 70.
I

I

I

I

I

I srcrlll
B AART BT AT BT ITAT HET STl o |
(1) 1793-1794 (2) 1794-1795
(3) 1795-1796 (4) 1792-1793
qicRifa® aict & ar o o7
(1) PTet AT (2) weTferd
(3) @if= (4) SR # A B TSl
IRY H T ISTb ST b IROTERY fhd UDhR
& fdard 8u?
(1) 3iENRe wifd 83
(2) T TRI & I 83T
(3) NId BT IR g3l
(4) SIRIH T
BRI Hifd & TRUTAE®Y, TR
(1) FrIfaa | qreR Mara fear
(2) fratfa &= fear
(3) BT | AR fgam
(4) R BIRA T & T
2091 T BT YHIATT H ®H & B ART el B

CRGRL

(1) 3ienfire &= (2) B &
(3) WA & (4) 9Rass &=
“YUATHIR " T T 31ef 272

(1) AITTT FHATSTATET ORISR |
(2) EgH WIITT HHTSIATR] ORI
(3) foura FHToIaTel &l &1 99
(4) HYH TR AIfGIT TORTR
ARIfIE P 9?

(1) o9 & aaeie

(2) di@Ifadmt & faxieh

(3) = =T

(4) faceft smspAvTRRY

]
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PCP, Sikar

Class : IX/Q-5 I

IIT-JEE | NEET | OLYMPIADS

12



| www. princeeduhub.com | priNcE oLympiaD ExaMinaTion | o PcP i

E(Emﬁusu —_—

"I had been waiting for you," she said. 78. Neither of the players  performing well.

(2) attended
(3) had attended
(4) would attend

(1) have reached
(2) has reached
(3) reach

(4) reaching

I
She said that she  waiting for me. : (1)is (2) are
(1) was | (3) were (4) have been
(2) had been | 79, The principal, along with the teachers, attending
(3) has been : the conference.
(4) would have been | (1) were (2) are
72. He said, "I can speak French fluently." | (3) is (4) have
He said that he ___ speak French fluently. I 80. She said, "I may consider your offer."
(1) could (2) can | She said that she __ consider my offer.
(3) may (4) might | (1)would (2) might
73. If he ___ the opportunity, he would have succeeded. | (3) should (4) must
(1) had taken (2) took I 81. Thepolice  searching for the suspect since last night.
(3) takes (4) has taken | (1) has been (2) have been
74. She  gone to the party if she had known about it | 3)is (4) arc
e?rher. " 5 dh I 82. They _ their house by the time we reached.
(1) cou (2) would have | (1) had left Q) left
(3) will (4) must | (3) leave (4) were leavin
v Wi v
75. He asked, "Will you attend the meeting tomorrow?" , g
. . | 83. 1If vou __earlier, you would have met him.
He asked if I attend the meeting the next day. | | .
(1) will (2) would I (2) zrzve .
(3) shall (4) should : @) ha arrive
76. The team __ exhausted after the long match. | ) a\./e arrived
(1) was (2) were | (4) arrived
(3) is (@) are | 84. I wish you  the mecting yesterday.
77. The committee __ its decision after much debate. I (1) attend
I
I
I
I

Space for Rough Work
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85. "Did you complete the assignment?" she asked. I 88. If only she  more careful, she wouldn't have made
She asked if I the assignment. | that mistake.
(1) had completed | (1) were (2) had been
(2) completed | (3) was (4) has been
(3) complete : 89. He  that he would be late to the meeting.
(4) have completed | (1) say (2) said
86. Thejury  divided in their opinions. | (3) says (4) had said
(D is (2) are : 90. The crowd  dispersed before the police arrived.
(3) has (4) have | (1) was (2) were
87. She  be at home by now; it's already late. | (3) had (4) have
(1) should (2) can |
(3) must (4) might I
I

Space for Rough Work
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If POLICE is coded as 60 in a certain code, what is the |
code for 'ARMY' ? |
(1) 65 )70
(3)553 4) 57

91.

Ife vep f¥ad @is § POLICE &I 60 forer Sirar @, af
'ARMY' & foIU @l T 87

(1) 63 (2) 70

(3) 55 4) 57

I
I
92. Ina certain code language, "479" means "fruit is sweet", : 92. U M¥ad g AT 4, "479" BT 31ef B "fruit is sweet",
"248" means "very sweet voice" and "637" means "eat | "248" BT 3k & "very sweet voice" 3R "637" BT 3 &
fruit daily". Code for "is" is equal to - | "eat fruit daily" & 1 "is" & oY PIe aRER & —
(16 2)7 I (16 2)7
3)9 4)4 | 3)9 4)4
93. In the morning after sunrise Ram and Shyam talking | 93. HT<h: Hﬂm & 91 M 3R WM Uh G GANIEERER)
with each other standing in front of each other. If the | IR 3MYH H I B 38 © | AfS I Bl BT T
shadow of Ram falls left to the Shyam, then in which | @ Rl 3R Ul &, A1 TIM Bl 49 fbe fawm 4§ 2?
direction is Shyam's face ? I
(1) East (2) South | (1) yd (2) <feroT
(3) North (4) West | (3) TR (4) ul¥=m
94. If by arranging the letters of the word LASBEBLA, the | 94. afe LASBEBLA 3% & 3Rl &l afRerd &= |
name of a game is formed, what are the first and last | Ol el BT AW 941 ©, O SH YR a9 I & Ugel
letters of the word so formed ? : 3R Sifem 3R @I 87
(HL,S QL E | (H LS 2 L.E
(3)B.L @S, L | (3) B,L 4 S,L
95, Four forms of a dice are shown below. In this dice which | 95. e o @& o wu a1 fwamg w10 & | 39 o) & afap 2
digit will be on the surface opposite to the digit 27 : & fAURId |8 WR PIF AT 3 BRTT?
. I : KB I : I ; KK
. . s /e * . . /. | . R s S * . s/,
. * . . . * ¢ . * | . * . . . * ¢ . *
I
(1)1 )5 I (1) 1 ) 5
3)4 46 | (3) 4 4) 6
I
Space for IRough Work
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96.

97.

98.

99.

100. There is a certain relation between two given words on

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Kamal starts from his place, heading East walks 7 km. | 96. rer arsy <o < wew axd gd &l 3R 7 fH ! aerar & |

Then turns right and walks 4 km. After this he turns |
right and walks 7 km. At last heading North walks 4 km. |
How far is Kamal from his starting position ?

(1) 11 km (2) 3km

(3) 1 km (4) 0 km

Which of the following diagrams correctly shows the
relationship between boys, athletes and students?

TN

N\
(2) |l _,:' L /i_.,'

o

W |

s

Choose next term for the given number series.

380, 465, 557, 656,762, 875, 7

(1) 955 (2)975

(3) 1015 (4)995

The population of a city doubles every 7 years. If in
2009 population is 12483, by which year population
increases by 499327
(1)2030

(3)2023

(2)2016
(4)2037

one side of:: and one word is given on another side of ::
while another word is to be found from the given

97.

98.

99.

100.

i <T¢ g § 2R 4 {59 erar 8| 398 915 98 |0
ST 8 3R 7 fhHl @rerar 8 1 3fd # SR &1 MR 93 gY
4 o4 TATT & | et U YRR Rerfer 3 fobaeT gx 87

(1) 11 fodr (2) 3 foeit
(3) 1 &1 (4) o &
fr=ferRad & & &I W1 3G dTsal, Treiel iR B
P g G BT Fol @ | qfar 87
_. -
(1) | Q) ',l _,-' _
,F;.._r, ﬂ\‘. ey
3 __'-,_-'J f ) (4)
& TS T et & forg 3Rt ug iﬁ |
380,465, 557,656,762, 875, 7
(1) 955 2) 975
(3) 1015 (4) 995

Tdh FBY Pl ST B 7 HIeT § QR[N 81 Orel! & | Al
2009 H GIFTERAAT 12483 ®, Tl fhd Y SITHEIT H 49932

# gfe B
(1)2030 (2)2016
(3)2023 (4)2037

v w17 g1 vrest @ g v HR¥TT WU R B Uh R%
3R Td v gH G AT T © - weEfe few
el § U U 3IR Wes gel © [STH®T 59 W & i

alternatives having the same relation with this word as QT U SIS & WA WE & |
the given pair has.
Goa : Panaji : : Gujarat : ? AT © TSI © @ I[OIRI : ?
(1) Ahmedabad (2) Porbandar (1) 3rZHGIETG (2) URER
(3) Gandhinagar (4) Kandla (3) MR (4) DIl
Space for Rough Work
PCP sikar Class : 1X/Q-5 I IT-JEE | NEET | OLYMPIADS 16
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